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: 

1.
  K
oj
i j
e 
od
 o
vi
h 
br
oj
ev
a 
pa
ra
n?
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B
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+
 0
 +
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 +
 9
  
C
) 
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0 
−
 9
 

D
) 
20
0 
×
 9
  

E
) 
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0 
+
 9
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še
n
je
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D
   
B
ro
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om
no
že
n 
pa
rn
im
 b
ro
je
m
 je
 p
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an
 

 2.
 N
a 
za
ba
vi
 s
u 
bi
la
 4
 m
la
di
ća
 i 
4 
dj
ev
oj
ke
. M
la
di
ći
 s
u 
pl
es
al
i s
am
o 
sa
 d
je
vo
jk
am
a,
 a
 d
je
vo
jk
e 
sa
m
o 

sa
 m
la
di
ći
m
a.
 N
ak
on
 z
ab
av
e 
pi
ta
li
 s
m
o 
sv
ak
og
 o
d 
nj
ih
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ol
ik
o 
su
 p
le
sn
ih
 p
ar
tn
er
a 
pr
om
ij
en
il
i t
ij
ek
om
 

ve
če
ri
? 
M
la
di
ći
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u 
od
go
vo
ri
li
: 3
,1
,2
,2
. T
ri
 d
je
vo
jk
e 
su
 o
dg
ov
or
il
e:
 2
,2
,2
. S
a 
ko
li
ko
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 m
la
di
ća
 p
le
sa
la
 

če
tv
rt
a 
dj
ev
oj
ka
? 

 A
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 B
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1 

 
C
) 
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D
) 
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) 
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je
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M
la
di
ći
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ot
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al
i 8
 p
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so
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,a
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i d
je
vo
jk
e 
sa
m
o 
še
st
. Č
et
vr
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 d
je
vo
jk
a 
je
 

pl
es
al
a 
sa
 d
va
 m
la
di
ća
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3.
  Z
vi
je
zd
a 
na
 s
li
ci
 s
as
to
ji
 s
e 
od
 1
2 
je
dn
ak
ih
 is
to
st
ra
ni
čn
ih
 tr
ok
ut
a.
   
  

O
ps
eg
 z
vi
je
zd
e 
je
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6c
m
. K
ol
ik
i j
e 
op
se
g 
za
ta
m
nj
en
og
a 
še
st
er
ok
ut
a?
 

 A
) 
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  B
) 
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 c
m
  

  C
) 
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 c
m
 

D
) 
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 c
m
  

E
) 
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 c
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še
n
je
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 z
vi
je
zd
e 
od
re
ñu
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 d
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 s
tr
an
ic
e 
tr
ok
ut
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ps
eg
 š
es
te
ro
ku
ta
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od
re
ñe
n 
sa
 p
o 
je
dn
om
 s
tr
an
ic
om
 is
to
g 
tr
ok
ut
a,
 p
a 
je
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a 
po
la
 m
an
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 S
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ri
m
a 
D
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ul
ic
e 
N
en
ad
 d
ij
el
i n
ov
in
e.
 N
ov
in
e 
će
 p
ri
m
it
i s
vi
 s
ta
na
ri
 č
ij
e 
ku
će
 im
aj
u 
pa
ra
n 
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. P
rv
a 
ku
ća
 p
oč
in
je
 b
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je
m
 1
5,
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 z
av
rš
av
a 
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 k
ol
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uć
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N
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 p
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el
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in
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B
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 b
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o 
je
 p
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je
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   5.
 P
ov
rš
in
a 
na
jv
eć
eg
 k
va
dr
at
a 
je
 1
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ol
ik
a 
je
 p
ov
rš
in
a 
 

 
na
jm
an
je
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cr
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ad
ra
ta
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) 
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B
) 
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C
) 
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01
 
D
) 
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) 
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je
še
n
je
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D
   
U
 n
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ve
će
m
 k
va
dr
at
u 
je
 2
5
⋅
4
⋅
9 
=
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00
 

m
al
ih
 k
va
dr
at
ić
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 6.
 U
m
no
ža
k 
če
ti
ri
 r
az
li
či
ta
 p
ri
ro
dn
a 
br
oj
a 
je
 1
00
. K
ol
ik
i j
e 
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ro
j t
ih
 b
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je
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) 
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) 
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C
) 
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D
) 
18
  

 
E
) 
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še
n
je
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=
 1
⋅
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 ⋅
 5
 ⋅
 1
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 n
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ho
v 
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 1
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 1
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7.
  U
 s
ob
i s
u 
m
ač
ke
 i 
ps
i. 
B
ro
j m
ač
ji
h 
ša
pi
ca
 d
va
 p
ut
a 
je
 v
eć
i o
d 
br
oj
a 
ps
eć
ih
 n
ju
šk
ic
a.
 Z
ak
lj
uč
uj
em
o 

da
 je
 m
ač
ak
a 

 A
) 
dv
a 
pu
ta
 v
iš
e 
od
 b
ro
ja
 p
as
a 
   
   
 B
) 
je
dn
ak
o 
ko
li
ko
 i 
pa
sa
   
   
  C
) 
po
lo
vi
na
 b
ro
ja
 p
as
a 
  

D
)
41
od
 b
ro
ja
 p
as
a 
   
   
   
   
   
   
   
   
 E
) 
če
ti
ri
 p
ut
a 
vi
še
 o
d 
br
oj
a 
pa
sa
  

R
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še
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D
vi
je
 m
ač
ke
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ca
 š
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ov
ar
a 
4 
ps
eć
ih
 n
ju
šk
ic
a 
tj
. 4
 p
sa
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  8.
  D
an
as
 je
 n
ed
je
lj
a 
i F
ra
nj
o 
je
 p
oč
eo
 č
it
at
i k
nj
ig
u 
od
 2
90
 s
tr
an
a.
 S
va
ki
 d
an
 o
n 
pr
oč
it
a 
4 
st
ra
ni
ce
, a
 

ne
dj
el
jo
m
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5 
st
ra
ni
ca
 b
ez
 p
re
sk
ak
an
ja
 i 
je
dn
og
 d
an
a.
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ol
ik
o 
m
u 
tr
eb
a 
da
na
 d
a 
pr
oč
it
a 
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gu
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B
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C
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D
) 
35
  

 
E
) 
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še
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nj
i t
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 tj
ed
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t d
an
a 
da
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a 
sl
ic
i d
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oč
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m
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∠
Q
P
S
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 1
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 |P
Q
| =
 |P
S
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S
|, 
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li
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 k
ut
 ∠

Q
P
R
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36
° 
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 C
) 
54
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D
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) 
84
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S
P
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R
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Q
S
P
=
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∠
P
S
R
=
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S
P
R
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°,
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 ∠

Q
P
R
=
54
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. D
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e 
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 d
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ih
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e 
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B
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C
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D
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ko
 s
e 
br
oj
 o
dr
as
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el
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o 
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pu
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 k
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am
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ik
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jm
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, d
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či
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B
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C
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vi
h 
ko
ca
ka
 tr
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 m
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ad
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 p
ra
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B
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i d
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j d
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N
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dn
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m
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ja
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ol
ik
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će
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ad
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+
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)
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R
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O
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 d
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m
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va
dr
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N
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i j
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st
ra
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 N
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sv
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 b
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i b
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m
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st
ra
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u 
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e 
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m
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i d
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 b
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C
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D
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 b
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st
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m
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.  
Ž
el
im
o 
ob
oj
it
i k
va
dr
at
ič
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eš
et
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or
is
te
ći
 C
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en
u,
 P
la
vu
, 

Z
el
en
u 
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m
eñ
u 
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ak
o 
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u 
su
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ed
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dr
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az
li
či
ti
h 
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va
dr
at
i s
e 
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at
ra
ju
 s
us
je
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u 
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 s
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an
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).
 

K
oj
om
 b
oj
om
 ć
em
o 
ob
oj
it
i z
at
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m
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eñ
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eñ
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m
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 o
dr
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. S
li
ka
 p
ri
ka
zu
je
 p
ra
vi
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n 
de
ve
te
ro
ku
t. 
P
ra
vc
i k
oj
im
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pr
ip
ad
aj
u 
dv
ij
e 
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ce
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at
va
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ju
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ut
 s
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i j
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m
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B
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ra
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 p
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A
C
=
20
°.
 U
 tr
ok
ut
u 
A
B
X
 

∠
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X
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∠
B
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X
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A
X
B
=
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°.
 

 19
. N
a 
sl
ic
i s
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i f
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m
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 f
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ra
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t i
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ča
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M
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N
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en
ča
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 d
je
lo
vi
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u 
je
dn
ak
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ku
ti
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dn
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i k
va
dr
at
i(
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di
 s
li
ku
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ač
un
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ov
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u 
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je
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an
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 d
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el
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va
dr
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A
B
C
D
. 

 A
) 
42
cm

2
   
   
B
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2
   
   
C
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D
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še
n
je
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4
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 ⋅
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2
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ol
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o 
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oj
i d
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et
er
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na
m
en
ka
st
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ro
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e 
su
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na
m
en
ke
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ov
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t d
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eñ
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e 
m
je
st
u 
na
 b
ro
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el
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 m
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ih
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 lj
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 p
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a 
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 k
až
e 
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e 
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lj
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